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What Did the Ape Thmk of the Grape S House’?

For each exercise, draw the line indicated and write its equation. Find your answer in the ﬁr\p
answer section and notice the two letters next to it. Print these letters ln the two boxes atthe .. 7

bottom of the page that g\ontain the number of that exercise. - —
HEES A S : 7] b ' Y"f 1 . 4 ‘
\_\ - T~ :
R e aC = TELRA T
: s/T// T
- i} C X j / X
D Tz | 4 “T=4 [-2 2 g | |
1A A
y : / E\Rz :\\ . Vi » 47“2
1T T T THA q1°T | 1a
1 _ "/4*//_’
AW/ RN s ~,/ JATIR]

&
AS @ Equatton of AB y 9:7( 30U @ Equation of JK \[ -+ 3
NE @ ‘Equation of 53 l.— 2 +'l TI—@ ‘Equation of m Y -—-%L ' 2N
C TH @ Equataon of 55 \L"’ "QQ( "l DE' Equation of I(\'lg \[ “’/ 1+9\ | g

GH . Equat!on of?@ ¥ ‘/22(,-—‘ . Equat]on of PO Y, —-g

HE®. Equaion om-ry 3x +5 VTG Eqvaton o y=§x -5
AnSwers: o . |

y-=—-1-x+2 o y=§x | @_y=‘—2x+3 |
y=.-g-x~—1 | | ®»y=gx+1 @ y=-§-x.—5
® y'=-——g—x+2 . - y——-x+3 !@ y'=-.-‘2‘x—4‘ |
ﬂ 43. 6 Tal? 991 1 3 ‘.8\ w

ALGEBRAWI‘I’I-IPiZZAZZ!  OBJEGTIVE 5-1:Tofio an ecuation of a e 5 }
154 oc:eaﬁVePupmaﬁons L grventwopamsonthelhe(ushgﬁl&mph)-




9v—0

"uoijenba sy uaaib ‘auyj e jo 1dsassjul-A pue adojs syl puly 0f H—G JALLOIrd0

—_

¢ | KEY \
/ According to Some Students, What Is the True

Purpose of Homework?

Write each equation below in slope-intercept form. Then find the slope and
y-intercept at the bottom of the page. Write the letter of the exercise above them.
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Use the slope and y-intercept to graph each equanon below. - The graph if extended will ?j » f)
cross a letter. Print this letter in each box that contains the number of that exercise.
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OBJECTIVE 5-1: To graph a line given its equation (excludes vertical lines).
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Why Did the Cow Want a Divorce?

Graph each equation below. The graph, if extended, will cross a letter. Look for this letter in

M- string of letters near the bottom of thé page and CROSS IT OUT each time it appears.

' .en you finish, write the remaining letters in the rectangle at the bottom of the page.
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-—48 OBJECTIVE 5-m: To graph a ling given its equation (inclugles vertical lines). —




